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The geography of conflict

Lesson 5: The impact of conflict on development
Key Ideas:
a) Conflict can have a major impact on the level of development of a country.

b) Afghanistan has seen a dramatic reduction in its level of development due to ongoing conflict.
Starter activity:   
Guess the country
This starter activity encourages pupils to use clues, which decrease in difficulty, to guess the country – Afghanistan – which is going to be the case study used in this lesson.  Pupils could either work individually or as teams and could be awarded points depending on which clue they guess the country from.
Main activity:

The main aim of this lesson is to develop pupil’s enquiry skills and use of resources, as well as to investigate the impact of conflict on development.  Pupils are given a list of a variety of different resources that they can access via the Internet. Alternatively, the teacher can print out the resources for them to use. The students select four resources that they will use to answer the enquiry question ‘What impact has conflict had on Afghanistan’s development?’, and should justify why they have selected these resources. This process could be differentiated by giving students the opportunity to select more than four resources or by giving them the option to swap some resources after a specific period of time.  Pupils should complete this activity in groups so that they can discuss their ideas and pull apart the resources in order to answer the enquiry question.
Pupils should then write up their findings in the form of a report.  This can be done individually and they can use the instruction grid to help them to structure their writing.  

Finally, pupils should use the peer assessment information to assess each other’s work.  This could then be used to set targets for future pieces of written or enquiry work.
Plenary:
‘Development indicators’ 
The plenary is an interactive activity where pupils are given a series of development indicators and they have to decide whether the indicator is likely to decrease or increase with conflict.  Once they have done this, they also need to match the correct reason with their arrows.
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